
©Copyright 16/10/2020LF-Rev01

6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

1/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

N° Descrizione Caratteristiche Codice Quantità

1 Supporto - Support - Support
Halterung - Soporte – Apoio - 6412FZDXV

6412FZSXV 2(Right,Left)

2 Supporto laterale - Lower frame - Support latéral -
Soporte lateral - Untere Halterung - Suporte lateral - GL3761DXV

GL3761SXV 2(Right, Left)

3 Vite - Screw - Vis - Schraube
Tornillo - Parafuso TBEI M8x45 845TBEI 4

4 Vite - Screw - Vis - Schraube
Tornillo - Parafuso TCEI M8x25 825TCEI 4

5 Vite - Screw - Vis - Schraube
Tornillo - Parafuso TSP M6x20 620TSP 2

6 Vite - Screw - Vis - Schraube
Tornillo - Parafuso TCEI M6x25 625TCEI 2

7
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

Ø8 814RON 4

8
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

Ø6 6RON 2

9
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador – Espaçador

Ø18x20 Foro 8,5mm C18L20F8,5T 4

10 Dado - Bolt - Ecrou
Mutter - Tuerca - Porca

Dado Autobloccante Flangiato 
M8 (H 9,5mm) 8DADIFN 8

11 Dado - Bolt - Ecrou
Mutter - Tuerca - Porca

Dado Autobloccante Flangiato 
Alto M6 (H9mm) 6DADIAFLN 2

12
Coprivite - Screw Cap

Cache Vis - Stopsschraube
Tapa Tornillo - Boné Parafuso

- Z801 4

13
Coprivite - Screw Cap

Cache Vis - Stopsschraube
Tapa Tornillo - Boné Parafuso

- 13COP 4

14
Protezione Adesiva - Adhesive Protection

Protection Adhesive - Schutzkleber
Protección Adhesiva - Proteção Adesiva

- Z2388 2

15
Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes Originais
- - -

16

Particolari Inclusi Nel Kit Viteria Della Piastra
Components Included In The Fitting Kit Of The Plate

Pièces Inclues Dans Le Kit De Vis De La Platine
Die Einzelnen Teile Sind Bei Montagekit Der Platte Enthalten

Despieces Incluidos En El Kit De Anclajes De La Parrilla
Explodiu Incluído No Kit As Âncoras Da Grelha

- - -

ATTENZIONE: PESO MASSIMO SOPPORTABILE 6Kg.
WARNING: MAX. LOADING 6Kg.(13lbs)  
ATTENTION: CHARGE MAXIMALE 6Kg.

ACHTUNG: MAXIMALE BELASTUNG 6Kg.
¡ATENCIÓN!: CARGA MÁXIMA AUTORIZADA 6Kg.



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

2/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

10 mm

4mm - 5mm - 6 mm

13 mm

8,5 mm / 19mm / 21 mm

1 2

7 8 9 10 11 12

13 14

3 4 5 6

Hole Ø8,5mm/
External Ø18mm/
H.20mm

Hole Ø8mm/
External Ø14mm

Hole Ø6mm

M8x45mm M8x25mm M6x20mm M6x25mm

M8 M6

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

3/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

TRIUMPH STRET TRIPLE 765 2017/2019

REMOVE REMOVE15

15

15

15

15

15

15

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

4/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

REMOVE REMOVE

REMOVE

15

15

15

15

15

15

15

- FORARE NEI 4 PUNTI PREMARCATI
- DRILL HOLES IN THE FOUR POINTS

PREMARKED
- PERCEZ DES TROUS DANS LES QUATRE

POINTS PREMARQUEES
- LOCHER IN DIE VIER PUNKTE

VORMARKIERTE
- PERFORAR LOS CUATRO PUNTOS

PREVIAMENTE MARCADA
- BROCA OS QUATRO PONTOS PREVIAMENTE                      

MARCADOS

Ø21 mm

15

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

5/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

TRIUMPH STRET TRIPLE 765 2020

REMOVE15

15

15

Ø8,5 mm

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

6/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

REMOVE

15 

15 

Ø19 mm

15 

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

7/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

REMOUNT

15 

3

3

2

9

9

7

3

7

3

10

10

10
10

©Copyright 16/10/2020LF-Rev01



6412FZ - KZ6412
MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECÍFICO - MONORACK ESPECÍFICA

TRIUMPH STREET TRIPLE 765 (2017/2020)

8/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

1

2

12

12

4

4
10

13

13
10

M8 PLATE M5 PLATE

M6M PLATE M5M PLATE

M7 PLATE

16

16
16

16
16

16
16

16
16

16

16

16
5

11

11

5

16
16

16
16

11

16
16

11

16
16

16

16

16

16
16

16

16

16
1616

16

16

16

16

6

6
8

8

16

16

16

16
16

16

16

16
1616

16

16

16

16

6

6
8

8

16
16

16
16

11

16
16

11

16
16

16

16

16

16
16

16

16
16

16
16

16

16

16

16

6

6
8

8

16
16

16
16

11

16
16

11

16
16

16

16
16

16
16

16

6
8

11

11

16
16

16
16
16

16

6
8

16

16

16 16

16

16

16
16

16

16

ONLY FOR  TRIUMPH STREET TRIPLE 765 2020

LEFT SIDE/RIGHT SIDE STICK ON

14

1

©Copyright 16/10/2020LF-Rev01




